neg dRoH 8890 Jed¥. wTeFT(30)

RHF0 T2, @3, #.8. IO 3e B3, 3 DVY,BRI -
gone:10 Bebetevelyataors wosnsh: 20
# 3 §9n3 W,3,nen Be 8 wITRZH v WIWO. (1x2=2)

1) AU(BUC) = (AUB)UC @ Reants? o3z QORTTZ #Jazs#»agd?
a) BoB2ES Ao b)ZRS[2ES 2o C)pmd dony  d)amnness dodes

2) 8 Vx—y = wictwos
a) Vx—y Db) Vx—Vy )8 Vx—y d)8 Vx—y

# wy, IR Ao 8 wIBR9eB PéF IR, (1x3=3)
3) P(x)= x’—4x’+3x+1 2 (x—1) 003 wehacen s 3ok .
4) AABCox¢9 BC||DE, AD=2cm AB=8cm AE=3cm =zs AC=__ .
5) 45 23 758 a0 Rosined RN GRS 9308 AT JErod _

# 3903 ADINIFH war: (2x4=8)

6) =z FRTT BT w0t FTTOT THRT. He0 BTT DT 2ot WY THBINT DT BRBELD
36 2a0RRYH FicodehEd D @i 0edod DOIWN Nezd 32 IWRRT ScoERTS. AR
2.,083¢ WOTVRROT 300 2,083 AODTY STV wote VT BRTT T AWANY ToBT @&

=00R3 WY RoPRTS?
7) U={1,2,3,4,5} ,A={2,4} , B={3,4,5} s=n (AUB)'=(A'nB') acz> mp.
8) V2amm V4 3 rdesoy fombbrkod.
9) o33 o 283 Aonn 10a0e 2383 B3 gows S0 8 Qe wnd. Foud oY
1100 o398 8433 #3038 wugsnh ?
10) :»m5d 8RBT , tmEd SROTO YOTOIRENR P(X)= x’—6x’+15x—8 % g(x)=x-2
00T ZRNATRN WTOT LPNRY > JeRBRp FomoG@LD. (3x1=3)
11)" 283 &omnsd ASBLRODNGINTT , WINY OTOTAT  RTONYD  BSPRTRTHEY é:)a;aﬂzbgﬁ"

Q0T WHA. (4x1=4)



